Chapter 27 Lesson 6 Class Questions

1. Explain how the ‘Giant Impact Theory’ would explain why the moon elements match Earth’s?

2. What is found to cover the moon’s surface and how old are they?

3. What is the difference between geocentric and heliocentric models of the solar system?

4. What scientist is credited with challenging the geocentric model? What year?
5. What role does Galileo play in all this?

6. What role does Isaac Newton play?
7. Give one advantage to each: Land and Space telescopes.
8. Create a simple chart to depict the three main Space Telescope’s spectral domain.
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